Practice Test Questions 41-50

x =<
g I i
—0 N~
X |
VN. /\ 7\;)
p\JA [ - —i )
=
° /L Qf/h.
TS AT N
. SN\
/" o) 5 /
\ " ) "
> >¢ '\,AU
< o
I > - N
= X , .
~ ~ — -
" ~ . = s
- —i™
> — — s “— ~__ _ -9
< - —
" l’A /b/l ~ H
S ., _ — ~
)
| X .

Ga): (3.%)



)

%
% > \)\0
. - X~
7 ~ ~ <
_—



30 shea)y [ET K

Sh- g0 [T b

=2

CRPE S INE T

Icl W= I* %"
Jmij(ﬁxggx
jé c]u: xgéx






- be= 1200) - (3)F4): 0
ﬂ" AOCS /\Av exiékr









,50.0\5 | p -2 9 £,- 28,
S N I Brser
32 3l A

0 P 0, - 30,
0 ' | Rk <
0 0 “h| “h &y -k,
\/J}ﬁ’ﬂ‘5
’ 0 lo/? 1?/? ﬁ' I’;(;)Zs
O N O B —
0 0 |?L _2?L (, +31,
X l ;T Z{, z 2
L) 1 [ T TR R A |
) 1 613 Y,
| -25  21] 9 18 |
P
lf,uﬁﬂz
[ | 0 34 ( 4"’/“11
0 | e V-
X ] 4
, B,
X 19 /a
20 s
N q 19




at

2= |

’H\”\ Jfb\e j[t\ﬂm\ jd\m\}ofx is

_13
ok
20
it
S
! \(: 19
.5
] N - 9

no 5dlu~\io N




